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1. A metal wire of resistance 5Q was connected to a battery of 10v. Then the

. Nickel has resistivity ____
HlobH6e0 eleis CUT(HeMesT LleTHemL  6T6u5T?
a. 6.02 x 108 Om b. 6.14 x 107 Qm
c. 6.84 x 104 Om d. 6.84 x 107 Om

. The resistance of a wire of length 10m is 2 ohm. If the area of cross section of the

a.4 x 108 Om b.4 x 107 Qm
c. 4 x107 Qm d. 6.84 x 108 Qm
. Filament in bulbs is based on the Principle of
a. Charles law b. Newton’s law of motion
c. Joule’s law of heating d. Newton’s law of cooling
el alendsled o eiten et Qevp 6hd algluller Sigliienuled QFwBLBGSBE?
a. gmreverd &g b. Pl Leafer Quiss ald
C. 2260 Ol alemena] ald) d. puy L elear seftey ald

. In a simple circuit, why does the bulb glow when you close the switch?

age APPNI N STHNY CFNTRF PH- NAA-?7433943F A78R7555 9840776187

current through the wire and the power spent on the wire are

5Q WadismL Qstewi o Gonsd sbllCwmemm 10V aelwdbd olend  Oomewi
LOGHIHVHBIL 65T DeneutbSBLILIL (B6iTend 6edfled, HDLIuNed UTW D WO6TGIT LD  LoBBID
&1L Tulled GFeveufSalILl L Hmet

a. 0.5A, 5W b. 2.0A, 20W c.5A, 0.5W d. 20A, 2W

wire is 2 x 107 m? determine its resistivity.
10 ULy senpd eiigenL 20 etafled DIH&T LOGIHEIL  6T60I-3 HT6NWIb.

a. The switch produces electricity

b. Closing the switch completes the circuit

c. Closing the switch breaks the circuit

d. The bulb is getting charged
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